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1. $ERALUR &5
BkE B (ug/g)=(C FREXVX(A MIE-A 25 F)=(A FpfE-A 25 H)=(VI=VxW)xD
=2x(A M5E-A 7 EH)+(A hrffE-A 2 H) ~WxD
Bk A & (nmol/g)= (C FrfExV1)x(A Ml E-A 75 H)+(A faifE-A 2 ) =(VI=VxW)x10*+MrxD
=35.81x(A ME-A 75 F1)+(A frifE-A ) ~WxD
2. HRANMECE THE
8 (ug/10% cell)=(C FrifExV1)x(A ME-A 75 F)+(A FrifE-A 2 F)+(V1=Vx i &E)<D
=2x(A M5E-A T H)(A briE-A = H) <4 # & <D
R B (nmol/10% cell)=(C FRfExV1)x(A MIE-A 75 H)+(A FrifE-A 7 H)+(V1=V x4l
BrE)x 103+MrxD
=35.81x(A MIE-A 75 F1)+(A frifE-A 2 [) ~4iREE =D
3. AR5
P (ug/mL)=(C FrifEXV)x(A M5E-A 2 H)~(A brffE-A 7 H)+V1xD
=2x(A M5E-A 7 H)+(A trifE-A 25 H)xD
B B (umol/L)=(C FRUEXV1)x(A J5E-A 2 H)+A hnifE-A 2 H)+V1x10>+MrxD
=35.81x(A MI5E-A 7 H)+(A brifE-A 2 H)xD

C br#fE---Bkbr itk E, 2pg/mL; VI---IIAREAAER, 0.24mL;
V-3 BURAAR, 1mL; W-—FEARBUFE L&, g

YRR - R, #5500 J3IEE 500 AN AR5
D---FREAE L, RAERERDN 15 Mr---2k4yFH, 55.847.



